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ǎŕık

created
u
sin

g
A

cro
T
E X

Hint

Solution

Next question

Home

Question

Evaluate sin
(π

4

)
.

http://www.mendelu.cz


T
rigon

om
etric

fu
n
tction

s
R
o
b
ert

M
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ǎŕık

created
u
sin

g
A

cro
T
E X

Hint

Solution

Next question

Home

Question

Evaluate tan
(
−π

6

)
.

http://www.mendelu.cz


T
rigon

om
etric

fu
n
tction

s
R
o
b
ert

M
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ǎŕık

created
u
sin

g
A

cro
T
E X

Hint

Solution

Next question

Home

Answer

sin
(
−π

4

)
= −

√
2

2

http://www.mendelu.cz


T
rigon

om
etric

fu
n
tction

s
R
o
b
ert

M
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